
Practice questions – Year 4 – Number families

1. 6 x ___ = 42 so 60 x ___ = 420 (number families)

2. ___ x 9 = 63 so ___ x 9000 = 630,000 (number families)

3. 5 x ___ = 30 so 50 x ___ = 3,000 (number families)

4. 7 x ___ = 49 so 70 x ___ = 4,900 (number families)

5. 8 x ___ = 40 so 800 x ___ = 4,000 (number families)

6. ___ x 12 = 96 so ___ x 1,200 = 9,600 (number families)

7. 11 x ___ = 77 so 110 x ___ = 770 (number families)

8. 10 x ___ = 90 so 1,000 x ___ = 9,000 (number families)
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Practice question answers – Year 4 – Number families

1. 6 x 7 = 42 so 60 x 7 = 420 (number families)

2. 7 x 9 = 63 so 700 x 9,000 = 630,000 (number families)

3. 5 x 6 = 30 so 50 x 60 = 3,000 (number families)

4. 7 x 7 = 49 so 70 x 70 = 4,900 (number families)

5. 8 x 5 = 40 so 800 x 5 = 4,000 (number families)

6. 12 x 8 = 96 so 1,200 x 8 = 9,600 (number families)

7. 11 x 7 = 77 so 110 x 7 = 770 (number families)

8. 10 x 9 = 90 so 1,000 x 9 = 9,000 (number families)
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